stress test

1. 3
(%) _ gt g w3 S AR O, 54y O] B
F-atoda},
2. 18a®b3 + 3a2b x 2b = 7tH5] SHH?
@ 3ab @ 6ab? ® 12ab?
@ 3ab® ® 12ab®

3. o= O ¢l &et2 27k YA Yl g2 227

D (x:s)D — 15

bl:l 2 blO
@ (> s
@ (xl]y?)) _x20y12

@ a'% a5 =a?

® (=2)? x (=2)F = (=2)* =16

4. (z+a)?=22+br+9 & T, a—b ] ZES Fotofet.
(Ha>0)
9. —3z% + 2z °f o] A& Hsljof & A& F35ho] Wl

HY 22 + 3z 7} EH Gk of| A& stoiet,

6. THHA ACld -2y S

9.

gstady dz +y7t 99

ot o] o, ttF4] A & F5hE?

D 2x+y @ 3z—-y+1
® 4a+y-3 @ b5+ 3y
® 6x + 5y

r=-3,y=-2%

o uj, 22y + 3xy?

202y — 4qy?
T

ry Y
#27

@16 @17 @18 @®19 G2
(22 +1)* & HE2A AR A2

@ 422 +4z+1
® 222 +4x+1

® 422 +22+1

3z —4y+1
2 b)
6B+ 55 x, yol T3+ Ao

A: B:

® —z+2y+10
® Tz +2y+10

® 7z — 10y +2

—2z 43y +2

@ 422 -4z +1

@ 22%2 —4x+1

3 d m, 24 —
2 up27) ekl 2L

@ —x—10y+2

@ 7x—10y—3




12.

10. 1282e-1 = 16912 = g3e—4 & WFESH= ¢ 9] ZH2 L5}

o=},
s 5 a2 A2 1=29H?
@ (—32%)2 = —32°
@ (—222y)3 = 3227y°
® (2a?)* = 16a°

a2\? ot
o (5) =%
5 (L)

x 4
FRloly] grof| A wig AA|sh= 48 = tf3l= &
AE Fol= BE A NA A AFHEE =L g
ot 32 oWl & 48 F= FAof st 5 F o
PRS0l e Hol A1ET Aol ojn) EAELS
W ARhE 22797 Wetolet

13.

A 3x—2y—{x — (Ty — 62) + 5} = ax+by+c
A, a—b+c 9 = Fotofet

A 14, AR 10, 0 —10, B 2 —14,
HE .12
3 5 1 1 - =
Sep(wt gy )& vRE g W, 2t g
A% B2 a 2 5. o], [sa| o] gH?
15 11 1
— — 11 15 —
oy @5 O @ ® 3

15.

16.

rg
I
st

o, &5 A, B, C, D, E ] #°]

flo Y
) mlo

rC oo
PN

[¢]
-

@ 4(2?—32)— (322 —62+7) = Az’ +Bx—7

222 —3x+1 x272z+37
3 =

© 2
Cz®>+ Dz + FE
6

O A=1

@ D=-5

FXoly| 7HE-2 o "3 Zol
3zm Q1 AAMZFE o] EuhS 712 9] o]
y) E°l1, Al2e] dol= ym EHA4 M2

WHE7] 2 Shlck. el ol

=
ym(3x
H

=BT Y

@ 922 + 6zy + y*(m?)
@ 922 — 6y + y?(m?)
® 62 — y*(m?)
@ 922 — y?(m?)

® 922 + y*(m?)

(47 — 5y + 3)(x + 3y) & AANFAS d], zy o] AFE
ook,




17. e 9L welo] 2o ol

18. Thooll A £& AW Ta} vp2A AR AL9

19.

7} 5a , A=Z2] Aol7t 2% Q1 ]
FAAolc o] AguA ] Fu ||
7t 400 D W, ol E F5tel |

2t ] __
- 2’

@D 2a2p® @ 3ab? “~-5q.-7

® 4a?b? @ 5a*p?

® 6a?b®

@ a+at+a’=a

ONONS @ @ ® ©

@ 0O,e ® 0,0,

3 +32=81,3+3°+3°=3vLd 0, x —y 2 T
Jotef gt

) (2 (@) 2 e s
@ a®pv? @ —a*b? ® —a?b?
@ ab% ® fab%

. 1
21 Cspvay) <§x —3y) = az’ +bry+cy? D o, &

a, b, ¢ ol 5t a+ b+ c o 27

11 13 15
© 5 @6 5 @7 ® =

22. T A g, yoll 5t «, A B zxy = (S8xy? +4ay?) +
2zy , xAy = (122%y — 822%y) =+ 4oy 2 AT o,

(*xy) — (DY) o 1o
ey T @by 4

D 6y + 6y — x 6y —x
6y +x 6y —x 6y +
6y + x Jy—=x
6y —x 3y+x

23. —11:— —/1'_\‘/‘1”6} (561, 2/1) y (372, y2) Oﬂ EH’S]—O:] (£1, y1) X
(z2, y2) = T1@2 + T1Y2 + Y172 + Y12 = ] T
ol W, (2x, y) x (—y, 3z)E ZFs] sFH?
D —622 + 2zy — y? @ —622 + 2y + 3y
® 222 —xy —y? @ 622 + zy — y?
® 622 — zy + 3y>

24. T A a, b ol WSt #, x = a#tb =a+b—ab,

axb=ala+b) 2 ZotA a=—2,b=0—4y ¥
o, (a#b)+ (axb) & x , y ol T3t 202 YERfH?

O 22—y @ 22 -4 ® 222 —y

@ 222 -2y ® 2% -4y




25. 222 — 5 +4
3

ZF

of ofd A& Hsllol & A& Ex

2 _
W L] %

57

]_

o
oli
£

7F =9l vE2A] ALt g

®x2—24x+5 ®3x2—2x+5

6 6
T2 —z+5 @7x2—a:+9
6 6
Tx? —z+11
6




